

## Republic of the Philippines

# Department of Education

**Cordillera Administrative Region** 

## CONTRACT AGREEMENT

THIS AGREEMENT, made this \_\_\_\_\_\_\_, 2024 between:

**DEPARTMENT OF EDUCATION- CORDILLERA ADMINISTRATIVE REGION (DEPED- CAR)**, a government agency duly organized and existing under the laws of the Republic of the Philippines with principal address *at* Wangal La Trinidad, Benguet represented herein by ESTELA P. LEON- CARIÑO EdD, CESO III, Director IV/ Regional Director referred to as the **"PROCURING ENTITY"** 

-And-

**PHILIPPINE RUN HUI TRADING CORP.** with a principal office address at 17 Lincoln Street, BRGY. Del Monte, Quenzon City represented by its proprietor, **RICHARD C. GONZALO**, herein referred to as the "**SUPPLIER**"

#### WITNESSETH

WHEREAS, the Entity invited Bids for Certain goods and ancillary services, particularly "SUPPLY AND DELIVERY OF MATHEMATICS LEARNING RESOURCES (MANIPULATIVE MATERIALS) FOR THE DEPED-CAR" and has accepted a Bid by the "SUPPLIER" for the supply of those goods and services in the sum of THIRTEEN MILLION NINE HUNDRED FORTY TWO THOUSAND FIVE HUNDRED PESOS (P 13,942,500.00) Only;

#### NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement, words and expressions shall have the same meanings as are respectively as are respectively assigned to them in the Conditions of Contract hereinafter referred to;
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read **SUPPLY AND DELIVERY OF MATHEMATICS LEARNING RESOURCES** (MANIPULATIVE MATERIALS) FOR THE DEPED-CAR and construed as integral part of this Agreement, viz.:
  - Philippine Bidding Documents (PBDs);
    - i. Schedule of Requirements;
    - ii. Technical Specifications;
    - iii. General and Special Conditions of Contract; and
    - iv. Supplemental or Bid Bulletins, if any
  - Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents







MATERIALS) FOR THE DEPED-CAR submitted

submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- iii. Performance Security;
- iv. Notice of Award of Contract; and the Bidder's conforme thereto; and
- v. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- The contract duration or completion period shall be within within Ninety (90) calendar days upon receipt of Notice to Proceed;
- 4. In consideration for the sum of **THIRTEEN MILLION NINE HUNDRED FORTY TWO THOUSAND FIVE HUNDRED PESOS (P 13,942,500.00)** or such other sums as may be ascertained, "**SUPPLIER**" agrees to provide the following goods and services in accordance with his/her/its Bid:

	Specification	Unit	Quantity	Unit price	Total
	Regular Popsicle Sticks	set	10,780	₱25.00	₱269,500.00
	Plastic Container (use for groupings and comparing)	set	1,540	₱100.00	₱154,000.00
	Play Money (Philippine Currency)	set	3,260	₱150.00	₱489,000.00
	Geoboard	set	3,260	₱180.00	₱586,800.00
	Magnetic Fraction Tiles and Circles	set	9,240	₱250.00	₱2,310,000.00
	Dry Erase Place Value Whiteboard	set	3,080	₱200.00	₱616,000.00
	Base- ten Blocks	set	3,080	₱400.00	₱1,232,000.00
	Tub of Number Math Tiles	set	7,700	₱420.00	₱3,234,000.00
	Magnetic Demonstration Board	set	1,540	₱780.00	₱1,201,200.00
-	Handy Magnetic Board	set	15,400	₱250.00	₱3,850,000.00
	Regular Popsicle Sticks	set	10,780	₱25.00	₱269,500.00
				Total	₱13,942,500.00

5. The DepEd- CAR agrees to pay the above-mentioned sum upon full delivery of the above listed items.

Witness for Supplier

RICHARD C. GONZALO

SUPPLY AND DELIVERY OF MATHEMATICS LEARNING RESOURCES (MANIPULATIVE MATERIALS) FOR THE DEPED-CAR

IN WITNESS whereof, the parties thereto have caused this Agreement to be executed the day and year first before written.

ESTELA P. LEON-CARIÑO

Regional Director DepEd-CAR Regional Office RICHARD C. GONZALO

Proprietor

WITNESSES:

JENNIFER P. ANDE

Supplier's Witness

FUNDS AVAILABLE:

ALLOTMENT AVAILABLE:

FREMALYN E. PACLOS

Accountant II

OIC-Head Accounting Unit Authorized Representative MARIANE & WANSON Administrative Officer V

REPUBLIC	OF	THE	PHILIPPINES
DONE:			

## ACKNOWLEDGMENT

BEFORE ME, a Notary	Public for and in QUEZON CITY	_, Philippines,	this
SEP of 2 2024	, 2024 personally appeared	:	

Name	Proof of Identity		
ESTELA P. LEON-CARIÑO	TIN 147-466-799		
RICHARD C. GONZALO	501-498-319-000		

exhibited to me competent evidence of their identities written beside their names, known to me and to me known to be the same persons who executed the foregoing instrument and acknowledged to me that the same is their free act and voluntary deed.

This Contract consisting of four (4) pages including the page on which this acknowledgment is written, have been signed by the parties and their instrumental witnesses on each and every page hereof.

WITNESS MY HAND AND SEAL on the date and place first above written.

Page No. 47

Book No. 47

Series of 2024.

ATTY. JOHNREY L. VILLABLAGON

Notary Public Until December 31, 2024 ADM. MATTER NO. NP-475 (2023-2024)

IBP No. 406966/01-08-24/QC PTR No. 5410002/01-08-24/QC Roll No. 83492

MCLE VIII-0010756, Until 4-14-2028 52 Ilocos Sur St. Brgy. Ramon Magsaysay, QC